A B C D E
33 |- - -
32 [HYSOL EA 9394 Loctite AR
31 [Static Dissipative baq - 1
30 [Pin, SST, 00935 x 0562 LG, 98381A439 McMaster—Carr 66
29 14000317A-2 Alignment washer PSC 3
28 |SSSD-52, #10 spring plunger, delrin ftip Viier 44
27 |Reference: 3000100 PSC assembly procedures - -
26 [Reference:r 2000100 Lightband R&D - -
25 |[Reference: 2000453 (most recent revision) Lightkand mating procedure - -
24 [M22759/33-22-9 (Wire, 22 AWG, white color) PSC AR
23 INAS671-C04 #4 SST small pattern hex nut) PSC AR
22 [MS51957-21 (#4-40, SST, Pon head, 1.0 Ll PSC AR
21 [Uralone 5753, two port epox PSC AR
20 |[Resistor, Heot sink mountable, 50 W x 0.50 ohm, 524-4015 Alled Flectronics 4
13 |INAS620-C8 <#8 Washer, flat, small pattern PSC AR
18 |[NAS620-C6 #6 Washer, flat, small pattern PSC AR
17 |INAS620-C4 #4 Washer, flat, small pattern pPSC AR
16 [MS51957-26 #6-32, SST, Pan HD, 025 g PSC AR
15 [MS51957-43 (#8-32 SST Screw, Pan hd, 038 la PSC AR
14 |MS24693-C48 (#8-32, SST Screw, Flt hd, 038 (g PSC AR
13 |Cable—tie, Tefzel, 4 inch, 16N850 Newark AR
12 |Resistor, Heat sink mountoble, S0 W x 100 ohm, 524-4020 Allied Electronics 4
11 |Resistor, Heat sink mountable, 50 W x 2.00 ohm, 524-4028 Allied Electronics 4
10 |4000300C Line Tensioner Assembl PSC 1
9 14000064A-1 Retaining line assembl PSC AR
8 14000301D Line De—tensioner assembl PSC 1
7 |4000367A Hinged Leaf Assembl PSC 22
6 1400036410 15 inch Upper ring PSC 1
S [4000363C 15 inch Lower ring PSC 1
4 14000200F Sepoaration Connector Assembl PSC Table 1
3 14000307C Separation Spring Assembl PSC Table 1
2 14000370= Current Limiter PSC 1
1 14000383— Separation Switch Assembl PSC Table 1
LTE PART NUMBER SOURCE or MATERIAL QTY PO SERTAL NUMBER
m Z UNLESS OTHERWISE NOTED TITLE
olerance ! ! /
X.XXXX + 0.001 @ﬂ_o Mw [ hinxﬁﬁquQ Dmm V\
X XXX +0.005 m%
THE INFORMATION CONTAINED IN THIS DRAWING, OR ANY XXX +0.010 . .
PLANETARY REPRODUCTION THEREOF, IS PROPRIETARY INFORMATION XX +0.030 All dimensions SI7F TCAGE CODETDWG NO REV
AND THE PROPERTY OF PSC. IT SHALL NOT BE DISCLOSED, f
SYSTEMS COPIED, DUPLICATED, OR USED FOR MANUFACTURE, X +10 in inches &ﬁ Q Q @ @ mv mw W D
CORPORAT ION [EASUaamm i e [ Ty ater otemnns 1 77| A_|1IPHA/ |
2303 Konsos Avenve, Slver Spring, MD 20910, (0D 495-0737  [ReViebp il tolemns bl SCALE 11| [SHEET | of 7




